Seat No. :

XD-106

TYBA.
March-2013
Sanskrit (Paper-X)

(TSR, FATAHTHEATATHH, T4, TREATEITH)
Time : 3 Hours] [Max. Marks : 70

YA (1) wuell cuy caldd »is Ll yud .
Instructions : (1) Figures to the right indicate full marks.
() UaAUAHL UUAL eld d UsAsHis o GradlMi Avil.

(2) Write the same question number in the answer-book as mentioned in the
question paper.

N\

1. 2 uRade el aidl 2 o d s uRadedl A vuudl usHlAL AsdMl G
Ul 0

Read the following passages carefully and answer the questions of any one passage in
Sanskrit : 10

(3)  3HRT AT U WEAdR TATHE HEM FAEIRIRATERAR, faay ufdaafa &1 | 9

MHeheafaH SHHATTIEI WeE TR | 372 YN ahaelTIHIHTd hrfaeaqRad-aie -
Ud el JAH | HeRHETE G aeRgRe Fifeeruz= ufge sihehell Heea o
o | TOCREROEHFHRIT Tl Fee: WIEENE SAREaedss | aaearied a5
Joq | b T ApoIgel SRR T S | 3T TSI geTHIGET SheEhT: WIS |
3FASE S —

3T ferra uret ey e |
TR SEAEE T TS

3T

() T P 3T ?

() ¥: e fohm eI 2

(3) oA F IUM: TEIA: ?

(¥) T F: aRomE: ?

(W) U feraar u=ie e 3Tawd Haead ?
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(R 7Tea) U fafeeg Saarauia: | EEsuT ey | 99 SqEerd |
Fafearsta |

(FETEm) fosaed T |

IR |

T I |

a1ty it g |

el SHTHATST: el TR Toeafaed e sHerayfastd |

3T o] § TSNS | 3T Aol Ierd HeTel HIead: |

WHFET: falga: | | Yorg AausTyes R |
EZIBIRIGRUCIC W

Ffe: gEATEHET TEE gfead YaruERd d T Hifndr geaRese s |
D

IR TR WISt A wrpeden gfaradr = afekar: | SHERgeaet 9y
R oRe ard = Td: g |

TG ATderdl SeeHeRoTatd |

3T AT FRGHMINT | F | Sa-EeRIsia | FAHfd | Adfefar Tesmts=ar
T Y gt 9 Tehahid =l foh $0Tq Ush Ui |

o 7 @ SAEAT Aol ?

feRHET=ET |

(BT UTEeh: Woa: Feg=ara: |

() TEEHEHEEY TE: TSI §EawT Haer e Rrem=mTd weemata ?
(k) TS g FA T Fara ?

(3) T T TR F& ? FET Higen: 3 ?

(¥) ST IeTH T S ?

(W) TAet 3T o Tt ?

AL aotuyel Gudl AHA AL d-l UsIR weldl @ (1 d uid)
Form compounds and name their types from the following group of words :

(any five)

(2) T
(k) HauT: |
(3) PR
(¥) diar=T: |
(W) oo |
(8) 3rare: |
(9) 9 |
(¢) TSgeEw: |

Y

5



@) LR-midl siSust 2§ sUR 51 AHAAL y

(B) Explain any one of the following Karikas : 5
() eI TG ST HHYRT: |
TS SEes g aSIearRl ||

() FHYHUHAIF: TINT: DCHFHE: |

FIF: FEI: FHEH! FHAE: ||
() TEeitE vl F5 ARG gl 2L, d-l UsIl Alelel AL 10

(C) Define and discuss with illustrations the varieties of attributive or determinative
compound. 10

3. cDa-uil siduel ol el @atel-oiuiRel Arsd GelewL Alsd AHAAl. 10

Define and explain with scanning and Sanskrit illustration any two of the following
metres : 10

() T=THT

(R)  vRcAfesRifea |
(3) TE=H |

(%) gt |

¥, (@) AA-uHidl siduel o salsidl »dale s ¢
4. (A) Translate any two of the following verses : 8
() ara aferdafd AgeRect=l
T ARG faeRTeT: |
AReld JaafeTeeaaTgHY
Astrsifer: gafd seq@mEee: ||
(R) =AM & vromg: ferTasRuTg -
afasT el TSTANIR: |
Tt Frermed Touar o Ty
EaSTeT 39 Ugeh &TRERT: Tat-d ||
(3) = wi=athd AR Jm
AT gquedtd et & |
FaAerard i 7 o
wRMafd f& wifgehd T 1|
(¥) @ fe gy wm
FHRIGE JIIeRH |
@R 3t At g9 gRgar
T IR ga: g Sfafq 1|
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@) AAunidl o d ol weel queadl :
(B) Explain with reference to context any two of the following :

() o TR ST |

()  IRIE HfFard |
() HY B = uae: |

(¥) AT dgad |

W AlAmie o d el Gur -l avil
Write short notes on any two of the following :
(1) =MEET o, wsldviA.
(1) The character of “=resT:” |
(R) THAHAT IR TS |
(2) The episode of “didAr1l STTFIVT TFST: 7 |
(3)  GLIAUAL AMABL $UL GUR UUIRA -l2sl [ad dvil.
(3) Write a note on plays of Bhasa on the basis of the Ramayan.
(¥) s @8Rl
(4) Characteristics of “g&oT” |
AHYAW/OR
(W) “IREEmRTa’ 2R MRl Aleasald Yedis s

(5) Estimate the dramatic art of 9T&: with special reference to “TRE=RsaT” |
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